Math 53, Discussion 107

Monday, April 27,2020 9:33 AM

16.8 (Stokes' theorem)
16.9 (Divergence theorem)

Theorem (Stokes)
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Theorem (Divergence theorem)
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1) Compute [[,V X F - dS for F =
(2y cos z,e* sinz, xe”), on the upper half of the
sphere centered at the origin with radius 9

2) Compute [, F - dr for F = (yz,2xz,e™”) C

the circle x?> + y2 =16,z =5

1) Compute [[, F - dS for F = (exy?,xe?, z3) over
the surface bounded by y? + z? = 1 and the x =
—1,x=2
(a) Are the points P1 and P2 sources or sinks for the vector

field F shown in the figure? Give an explanation based
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the surface bounded by y? + z? = 1 and the x = T
-1Lx=2
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(a) Are the points P1 and P2 sources or sinks for the vector

field F shown in the figure? Give an explanation based

solely on the picture. T /r
(b) Given that F(x, y) = (x, y?), use the definition of diver- Jb

gence to verify your answer to part (a). ’Z_ CIX

ZT / Sourte ¢l P Z>% l: dr g‘g Vfﬁclé
2) ' ,

AN tHterrn
R R )
it U A N P
e imiaee g ) rfoxe | = [y
Rt rrz7) TFReo Jz . 0
- k)
(A
e 4z = (TcE) (oo ) ds = 2 J&
/f
’m 8 2 de L et S ewr
% é % \ [S N ?u“ ot
e)(
1) Compute [ F - dS for F = (e£y? xe?,z°)
overthesuts'faceboundedbyyz+zz=1 — = g A”‘“(%>: (g 7({67)7 807(/_

andthex = -1,x =2
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